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#include <fstream>
#include <iostream>
#include <string>

using namespace std;

int ZmianaSystemuZDowolnegoNaDziesietny (string s, int b);
string ZmianaSystemuZDziesietnegoNaDowolny (int liczbalO, int Db);

const int rozmiar=1094;

int main()

{

string liczba, liczba3;

int tablical[rozmiar][6];

fstream ZmiennaPlik, ZmiennaPlik2, ZmiennaPlik3;
ZmiennaPlik.open ("danewsystemyl - Lx&", ios::in);
ZmiennaPlik2.open ("danewsystenyi - Lx&", ios::in);
ZmiennaPlik3.open ("dane.sxstemyl - Lx&", ios::in);
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for (int i=0;i<rozmiar;i++)
{
ZmiennaPlik>>1liczba>>1liczba3;
tablica[i] [0]=ZmianaSystemuZDowolnegoNaDziesietny (liczba, 2) ;
tablica[i] [1]=ZmianaSystemuZDowolnegoNaDziesietny (liczba3,2);
ZmiennaPlik2>>1iczba>>1liczba3;
tablical[i] [2]=ZmianaSystemuZDowolnegoNaDziesietny (liczba, 4) ;
tablica[i] [3]=ZmianaSystemuZDowolnegoNaDziesietny (liczba3,4);
ZmiennaPlik3>>1liczba>>1liczba3;
tablical[i] [4]=ZmianaSystemuZDowolnegoNaDziesietny (liczba, 8) ;
tablica[i] [5]=ZmianaSystemuZDowolnegoNaDziesietny (liczba3, 8) ;
}
for (int i=0;i<rozmiar;i++)
{
cout<<tablica[i][0]<<"; "<<tablica[i][1l]<<"; **"<<tablical[i][2]<<"; "<<tablica[i][3]<<";
*FMm<<tablicali] [4]<<"; "<<tablica[i][5]<<"; **"<<endl;
}
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int min[3]; min[0]=tablica[0][1]; min[1l]=tablical[0][3]; min[2]=tablica[0][5];
for(int i=1;i<1094;i++)

{

if (min[0]>tablicali][1]) min[0]=tablicali] [1];

if (min[1]>tablicali] [3]) min[1l]=tablicali] [3];

if (min[2]>tablicali][5]) min[2]=tablicali] [5];

}

cout<<min[0]<<"; **"<<min[1]<<"; **"<<min[2]<<"; "<<endl;
cout<<ZmianaSystemuZDziesietnegoNaDowolny (min[0],2)<<";
**"<<ZmianaSystemuZDziesietnegoNaDowolny (min[1],2)<<";
**"<<ZmianaSystemuZDziesietnegoNaDowolny (min[2],2)<<"; "<<endl;
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int bledy=0;
for(int 1=0;1i<1094;i++)

{

if ((12+i*24) !=tablical[i] [0] && (12+i*24)!=tablicali][2] && (12+1i*24)!=tablicali][4])
bledy++;

}

cout<<bledy<<endl;
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int max[3]; max[0]=tablica[0][1]; max[1l]=tablica[0][3]; max([2]=tablica[0][5];

int LiczbaRekordow=1;

for(int i=1;1<1094;1i++)

{
if (tablica[i][1]>max[0] || tablical[i][3]>max[1] || tablicali] [S]>max[2])
{
if (max[0]<tablicali][1l]) max[0]=tablica[i][1];
if (max[1]<tablicali] [3]) max[l]=tablical[i][3];
if (max[2]<tablicali][5]) max([2]=tablica[i][5];
LiczbaRekordow++;
}
}

cout<<LiczbaRekordow<<"; "<<endl;
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int rij, 1ij;
int maxrij=0, pomoc;
pomoc= (tablica[0] [1]-tablical[l][1l])* (tablical[0][l]-tablicall][1])/(1-0);
for (int i=0;i<rozmiar;i++)
for (int j=i+1;j<rozmiar;j++)

{

pomoc=(tablica[i][l]-tablicalj]l[1])* (tablicali][l]-tablicalj][1])/(3-1);

if (maxrij<pomoc)
pomoc++;
if (maxrij<pomoc)
maxrij=pomoc;

}
cout <<maxrij<<endl;
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ZmiennaPlik2>>1liczba>>liczba3;
ZmiennaPlik>>1liczba>>1liczba3;
ZmiennaPlik3>>1liczba>>liczba3;
}
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int ZmianaSystemuZDowolnegoNaDziesietny (string s, int b)
{
int wynik=0, i=0, znak=1;
if (s[0]=="-")

{

znak=-1;

i=1;

}
int d=s.length();
for (int j=i;j<d;j++)

{
wynik=(wynik*b+(s[j]-"0"));
}

return znak*wynik;

}
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string ZmianaSystemuZDziesietnegoNaDowolny (int liczbalO, int b)
{

string liczbab="";

char z;

int znak=1;

if (liczbal0<0)

{

znak=-1;
liczbalO=-1iczbalO;
}

if (!liczbalO)
return "Q";
while (liczbal0>0)
{
z="'0"+1liczball%b;
liczbab=z+liczbab;
liczbalO=1liczbalO/b;
}
if (znak<O0)
liczbab="'-"+1liczbab;
return liczbab;

}
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